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full marks for the questions.

Answer either in English or in Assamese.

1. Answer as directed : 1x10=10 .

R ST Tes ¢

(a) “There is no relationship between
manpower planning and professional

planning.” (State True or False)
“Tia i AR T (RS ARTERE oo
@I TS |2 | (&% (@ qug o)
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(b)

()

(d)

(e)

“Performance appraisal system can
always be free from personal bias.”
(State True or False)

R AT SRS 2ellET] I Jfeeie
Fsifos #49 I 2a S !”
(&7 (7 I8% [7730)

Human Resource is an important
of an organisation.
(Fill in the blank)

SRR R G5 FGTE G gl 1
(31 1% 2 T

Virtual organisation is also known 4as
(Fill in the blank)

S oA . 3fee el A
(25 312 97 )

Which one of the following is not a

fringe benefit?

T GRS ool et e

() Health and Safety
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(i) Pension Scheme

(ol b

(iii) Employee Security
FHRE Faiefal

(ivj Compensation
AR

(Choose the correct answer)

(7 CGol IR Cfes3)

(f/  Which of the following is a hindrance

to effective training ?
WRERS ! Foer] 2T i 1L 252

(i) Career planning workshop
TG AP FPIfAT
(i) Aggregate spending on training is
inadequate
2O SoiTe SEIE I
(iti) Mentoring
APl
(iv) Career counselling
| (Choose the correct answer)

(&% SeFrh! AR Teredl)
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(h)

Which one of the following is not a
function of Human Resource
Management ?

O (RPIFCH! SR =2 JZ A1 B G =R 2
(i) Planning

AREeIT=e
(i) Staffing

FAbINE Hfewad

(iii) Preparation of budget
G0 ABOFI

(iv) Weather forecasting

T SIS 2
(Choose the correct answer)

(@% Gewch q1g Glersdl)

Which of the following is not a limitation
of Human Resource Accounting ?

O5Tq (PEE] AT A= BpiAAeR Aol
TR 2

(i) Opposition of trade union

. &S AT Remipae
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(i) Lack of suitable policy
TATS o] SIS

(iii) Supply of information to investors

@R 90 @Al

(iv) None of the above

89§ OIS W=
(Choose the correct answer)

(& ©GS! R CTed)

Which of the following is electronic
training medium ?

frafRe @ @yfoT A e

(i) Audio-visual medium

TSI ST
(i) Computer-centric medium
- ISR A
(iiij) Video conferencing
fefs TamrEPER
(iv) All of the above
A AT
(Choose the correct answer)
(w5 B! AR G
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Which of the following is in correct

order ?

=GRS @H A F=e SiE?

() Job analysis, recruitment,
induction, selection, placement

3 R, e, S, A2, 2o
RIS [E

(i) Recruitment, selection, placement,

induction, job analysis
TP, AL, BTSN, S,
.. q '
(i) Job analysis, recruitment,
selection, placement, induction

o R, s=6e1, A, Z® i,
S

(tv) All of the above

S BB ER
(Choose the correct answer)

(%% Gevcsr Az Cedr)
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2. Write very short answer : 2x5=10
WS b OeT frdl

(@) Write two differences between Human
Resource Management and Human

Resource Development.

25l 701 =N |

(b) What is placement ?
HRZ(fPrese e B2

(c) State two importances of work-life

balance.

| SIGRE SIINTOR 75 @ SEd

(d) Mention two objectives of transfer.

T 70 S B 4 |

(e) What is downsizing ?

[ AN W 9
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8t ~ Answer any four of the following :

9x4=20

e Rzl B Bed fal ¢

(a)

(b)

()

(d)

Describe in brief the role of a human

resource manager.

S Tl ARG SR G T

Distinguish between recruitment and

selection.

T S e Wiere 21y (el

What are the requirements of & good
wage plan ? :

<51 O SR ABRA AT [

Explain the relationship betweet the

employer and employee.

ﬁmmﬂﬁﬁiGW$as$ﬁﬁsﬂmﬁ:ﬂﬁw$amﬂnamﬂ

State the:'importance of ethics In°

human resource managemel’lt.

wmavﬁﬂwaﬁﬁmﬁamrﬁﬁémﬁﬁ@?@ﬁ@mﬁﬂﬁﬁﬂ
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() Write in brief any two methods of

performance appraisal.

el SRR I 757 1o DA ol

4. Answer any four of the following :

10x4=40
Wﬁ?@ﬁ?ﬂﬁmmmﬁﬁ?@@%ﬁig

(i Explain the meaning and importance
of training. Distinguish between
training and executive development.

sifirmag wiel o @9y I 5911 eAfERd o
TR ReE sere AL @E|

(i) Why is it necessary to maintain
- industrial health ? What measure do
you suggest to improve the mental and
physical health of employees in a

private sector organisation ?
5+5=10

@tmﬁ%$5Wﬁzmﬁ§%wvﬁtﬁmxﬁamﬁﬁm?aﬁ@
] 512 IS PR MR e A 22
TR 99 A B &5 ameed e
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(iti)

(i)

(vy)

Explain the steps involved in human
resource planning.

WWWWWW|

What is recruitment ? Explain the
processes of recruitment. = 3+7=10

AT IR 5 qE e TheeE Al il
4|

Describe the importance of human
resource information system. What are
the steps involved in designing human

resource information system ?
5+5=10

S ™00 O Amfed @y el w4l | S

N2 99 s eRgfed (0o Sivw
MCFARE & o

ixplam the emergmg challenges of
Hman resource management in the

present business environment,

TEH TP #HfRmis e 727 i
AR TR =54y |
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(vii) Describe the essentials of a good

incentive plan. Why should it consist
of both monetary and non-monetary
incentives ? Discuss.

aﬁwwﬁwsﬁamrﬁw@m?m
a1 | €5l eioTe REE S SH-ReE Sen
el 5 AICH] Sow 2 SCEHA |

(viii) Discuss the problems of performance

appraisal. How can performance
appraisal be made more effective ?

< | PRI TEHE (D S ey SR
Al ?
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